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1. How much does the man have to pay if he rents the room for two weeks?

A. $25. B. $40. C. $50.
2. What does Kate do?

A. A teacher. B. A writer. C. A visitor.
3. What’s the relationship between the two speakers?

A. Neighbours. B. Friends. C. Strangers.
4. Why is Mr Robinson wanted to come to the hospital?

A. Because he is a doctor there and a patient needs him.

B. Because his son has been taken there after an accident.

C. Because he has been ill and needs to see a doctor.
5. What is the woman going to do this weekend?

A. Have dinner with her friends.

B. Join in a birthday party.

C. Have a birthday party for her son.
Wrsh 6 BOGHE, SERiEE 6~8 il

6. When are they going to meet?

A. Wednesday morning. B. Friday. C. Wednesday evening.

7. What is the probable job of the woman?
A. She is a film star.
B. She is a musician.
C. She is a football player.
8. What are they going to do?
A. They are going to see a film.
B. They are going to have dinner together.

C. They are going to enjoy a concert.

II. r3d, WRT\EXHNETRTIET



1. The earth is the third planet from the sun in our

2. outer space, the earth looks like a blue water ball.
3. The moon is the only place where humanshave ~~ in the solar system.
4. However, , all of us are space travellers.
II. RB%ERE, M A B. C. D IIAMEHA, @FREFRTRAT
1. The plan sounds goodin | but I am afraid it’s not in practice.
A. theory B. fact C. opinion D. thinking
2. I thought we would be late, but eventually we were just for the train.
A. atatime B. in the time C. in time D. at the time
3. The peace talk between the two parties concluded in a friendly and frank , reaching a

series of agreements.

A. wind B. atmosphere C. spirit D.weather
4. One day, the farmer found that the golden egg by his only hen was stolen.
A. lied B. lain C. laid D. lay
5. most young students of his time, he has developed a keen interest in archacology.
A. Dislike B. Unlike C. In common D. As
6. Our government has adopted a series of policiesto  economy from the worldwide crisis.
A. protect B. keep C. stop D. prevent
7. The result of the game is really , and the majority of the fans were it.

A. disappointed; disappointed with
B. disappointing; disappointed at
C. disappointed; disappointed about
D. disappointing; disappointing at
8. — I am really upset about tomorrow’s exam. I am always so slow.

— ! You can pass it. You have been working hard on it, haven’t you?

A. Go ahead B. Just feel at home
C. Are you kidding D. Cheer up
9. Her cat was found several days later, on the river,

A floating; dying B. floated; dying C. floating; dead D. floating; died



10. really puzzles the scientist is the cloud of dust comes from.

A.What; what B. What; where C. What; that D. What; /
11. makes a lot of difference whether everyone tries to live a low carbon life.
A.What B. It C. That D. As
12.  isreported, Foxcom company is going to set up another new factory in Henan.
A. As B. It C. What D. That
13. Experts say armed conflicts are likelyto  between the two countries along the border.
A. break out B. break in C. break off D. break down
14.  everybody is here now, let’s start our new lesson.
A. Although B. As though C. Now that D. After
15. Though she was in great pain, she  a smile at her children.
A. pulled B. forced C. spread D. pushed

IV. RIEFES A RER BT )RR
1. Who is responsible for the accident? The police are trying to find it out. (k& FiE M A E

“h)

2. He is the best player in his team. It is a fact. (2 FiEMNFIHIE S H))

3. They should go on with the project despite the weather. They came to the decision yesterday.

(B R B WA R A 6D)

4. The only solution is such. Both parties put down their arms and talk face to face. (BBl &% K15

MAIIE 5 4))

5. They are still living in this place. This place used to be a church. (KUK & EiEMNAIHIE S )

V. RIEDOE RS K EREER T T RRIEE
L s R RRRA Tk ZH/NR . (birth)



2. ARFEER ORI SE dho AT . (harm)

3. BT ORI A FATIZ ULk KT BB BRI 51 T . (escape)

4. W TIUR, BB R T AR ES, JF HIE TSR €. (get the hang of )

5. IX (8] B AR IE] b3 () = 4% Ko (times)

VI. SEfR=

Many people have heard of Franklin’s famous kite experiment, but not many know how to do
the experiment themselves. To repeat Franklin’s _ 1 , first make a kite. Use a handkerchief _ 2
of silk, whichis __3  to withstand the wind and rain. Build a frame by making a cross of two
pieces of __ 4  wood, just long enough to reach the corners of the __ 5 . Tie the corners to the
points of the frame, and then attach a tail of cloth __6  your kite. Finish with a good strong kite
string, one __7 _ will be long enough to fly the kite high.

To get the kite ready for the experiment, there are three very important _ 8 . First take a
long sharp piece of metal and attach it to the longer leg of the cross, __9  a foot or more beyond
the frame. __ 10 , take a metal key and tie it to the end of the kite string, the end that will be on
the ground near you. Finally take a silk __11 _ and tie it onto the kite string, just above the key.
This silk ribbon needs 12 dry during the whole experiment, to 13 you and anyone

nearby from the electricity. All you need now is a condenser to __14  the electricity — and

15  astormy day with thunder and rain.

1. A. story B. life C. experiment D. kite
2. A. because B. made C. produced D. tied
3. A. good B. strong C. long D. large
4. A. light B. heavy C. high D. metal
5. A. ground B. sky C. handkerchief D. wood

6.A.up B. over C. with D.to



7. A. that B. which C. where D. what

8. A. steps B. reasons C. method D. factors

9. A. speaking of B. sticking out C. cutting off D. reaching out
10. A. However B. Instead C. Though D. Next

11. A. hat B. cloth C. ribbon D. cover

12. A. keep B. to be kept C. being kept D. kept

13. A. protect B. prevent C. escape D. suffer

14. A. produce B. test C. collect D. show

15. A. first of all B. above all C.inall D. all over

VIL R, RI\EEAREEREER

A
Stephen Hawking, arguably the most famous scientist alive today, cannot write on paper and
cannot even hold a pen. His disabilities, however, have not affected his mind. Hawking is able to
grasp some of the most complex concepts known to man and somehow simplify them for others.
Hawking was born in Oxford, England on January 8, 1942. When he was about 8 years old,
his family moved to the town of St Albans, about 20 miles to the north of London, where he
attended St Albans school at the age of eleven. Hawking then attended his father’s old college,

University College. Stephen wanted to do mathematics, which was not available at University

College. so he did physics instead. He earned a degree in Natural Science with first class honours

in just three years. Hawking then headed to Cambridge to study Cosmology. He completed his
PhD and then stayed on at Cambridge at first a Research Fellow and then a Professor Fellow. In
1973, Hawking moved from the Institute of Astronomy to the department of Applied Mathematics
and Theoretical Physics. In 1979, he was given the post of Lucasian Professor of Mathematics,
which he continues to hold to this day. He is today a fellow of the Royal Society and a member of
the US national Academy of Sciences.

Hawking’s great interest has been to understand the basic laws that our universe follows. One
of his most well-known achievements was to demonstrate, along with Roger Penrose, that
Einstein’s theory of general relativity needed to be brought together with quantum theory.

Hawking and Penrose showed that if Einstein’s theory was carried out logically, space and time



must have begun in something like the “Big Bang” of evolutionary theory and must end in black
holes.

Hawking has received numerous medals, awards and other prizes for his work. He is known
today not only among professional scientists but also by the general public. He has published
several books specially written to try to explain his theories to the common man. Three of his most
popular books are his bestsellers 4 Brief History of Time, Black Holes and Baby Universes and
Other Essays and most recently in 2001, The Universe in a Nutshell. Hawking continues to
research and write, not letting his disabilities slow him down. His goal is simple, he says. He
simply wants “a complete understanding of the universe. Why it is as it is and why it exists at all.”
1. Stephen Hawking is arguably the most famous scientist because

A. he is the only one who is alive today
B. he is totally disabled
C. he can not only understand but explain complex theories in simpler ways
D. he has received numerous medals
2. The underlined sentence probably means
A. he studied physics instead of mathematics because the degree studies weren’t provided
B. he couldn’t afford to study at University College
C. University College was more famous for physics teaching and research
D. he was more interested in physics than mathematics
3. Stephen Hawking worked in the Institute of Astronomy
A. before 1979 B. after he gained his PhD
C. before 1973 D. after his books were published
4. It can be inferred from the passage that Stephen Hawking
A. has been a student of Einstein
B. has been a Nobel Prize winner
C. completed his three most popular books in 2001
D. is a well-known theoretical scientist with many honours
5. The writer wrote this article mainly to

A. compare Einstein’s with Stephen Hawking’s achievements



B. show how Stephen Hawking became a great scientist
C. introduce Stephen Hawking and his greatness
D. encourage young people to learn from him

B

Two China astronauts, Fei Junlong and Nie Haisheng, are safely back on earth after their
Shenzhou 6 spacecraft successfully touched down on the grasslands of Inner Mongolia Sunday at
4:32:50 pm, ending a five-day mission and China’s second manned space flight.

“I want to thank the people for their love and care,” Fei said during the ceremony, in which
both astronauts were given flowers and seated in chairs.

The Shenzhou 6 crew spent 115 hours and 32 minutes in space, and travelled 2 million miles
(3.25 million kilometres) during their mission, which set new human spaceflight records for
China.

Fei and Nie were sent into space on October 12th, Beijing time on China’s second manned
spaceflight, the first to carry two astronauts. The spaceship lifted off from Jiuquan Satellite
Launch Centre in the Gobi desert almost two years to the day after China’s first manned launch.

That first mission, Shenzhou 5, launched astonaut Yang Liwei into orbit on October 15th,
2003, China is the third country to independently launched humans into Earth orbit after Russia
and the US. But unlike Yang’s flight, which the public did not get to see much of, much of
Shenzhou 6 mission from lift-off to landing was shown live on national Chinese television. With
Shenzhou 6, China has “achieved another milestone ... in ... space exploration,” said Wu
Bangguo, Chairman of the Chinese NPC during his speech which was broadcast live on CCTV.

6. In which year was Shenzhou 6 launched into space?

A.2003. B. 2004. C. 2005. D. 2006.
7. What was the speed of Shenzhou 6 when it was travelling into space?

A. 28,130 kilometres per hour. B. 28,130 miles per hour.

C. 35,540 kilometres per hour. D. 35,540 miles per hour.

8. Which of the following countries has not succeeded in launching humans into Earth orbit?

A. China. B. Russia. C. The US. D. The UK.



9. Which of the following statements is NOT true?
A. Shenzhou 6 landed on grasslands of Inner Mongolia Sunday at 4:32:50 pm.
B. The Shenzhou 6 crew spent 115 hours and 32 minutes in space.
C. The Shenzhou 6 crew set new human spaceflight records around the world.
D. Yang Liwei’s flight was not shown live on national Chinese television.
10. Which one is the best title of this passage?
A. Shenzhou 6°s Safe Return
B. History of China’s Space Exploration
C. New Human Spaceflight Records
D. Chinese Astronauts
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Developing Space technology, worthwhile or not?
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Text 1
M: Is this room to be rented? How much is the rent?
W: Yes, it’s $40 a week. For students $25 a week.
Text 2
W: Good morning, Dr Brown.
M: Hello, Mrs Smith. Who’s your visitor?
W: Oh, this is my daughter, Kate. She’s a writer and her husband is a teacher.
Text 3
M: Excuse me. Do you know where the Browns live?
W: Yes, it’s the third house on the right.
M: Thank you.
W: You’re welcome.
Text 4
W: Hello, is that Mr Robinson?
M: Yes, who is that, please?
W: This is Saint Mary’s Hospital in London.
M: Oh, dear. What is it?
W: I am afraid your son has been injured in an accident. Would you come to the hospital as soon
as possible?
M: I’ll be there without delay.
Text 5
M: What a pity you can’t join us for dinner this weekend.
W: I wish I could, but I have a birthday party for my son. Would you like to join us?

1.C 2.B 3.C 4.B 5.C
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Text 6
W:4373811.
M: Hello. Is that Jean?
W: Yes, speaking.
M: There’s a really good film on at the cinema this week. It’s called Sounds Forever. Would you
like to come and see it with me on Wednesday evening?

W: No, I'm afraid I can’t. I'm going to play in a concert at London University on Wednesday.
M: What about Friday then?
W: Great. What time does it start?
M: Seven o’clock. Would you like to go for a drink first?
W: Yes, fine. Is six o’clock OK? We can meet outside the cinema.
M: OK, fine. See you on Friday then. Bye.
6.B 7.B 8.A
II. Urxd, R\EXHETRTIIET

The earth is the third planet from the sun in our solar system. The distance between the earth
and the sun is about 150 million kilometres. It takes 365.256 days for the earth to travel around the
sun. The earth has a diametre of 12,756 kilometres. Seen from outer space, the earth looks like a
ball with blue waters, brown and green land masses and white clouds set against a black
background. The moon is the natural satellite of the earth. It is 384,403 kilometres away from the
earth. The diametre of the moon is 3,476 kilometres. The earth is the only planet in the solar
system that is known to support life while the moon is the only place where humans have set foot
in the solar system outside the earth. Many people dream of visiting the moon as a space tourist.
However, in reality, all of us are space travellers. The earth is our spaceship, travelling at the speed

of 108,000 kilometres. The thing is that we never realize it.

1. solar system 2. Seen from 3. set foot 4. in reality
M. BTREHE, M AL B. C. D UANERF, EFREERTRAT
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flEdT: A EEE A LR . in theory fEEER b;  in practice fESLEEH; in fact SEFR L.
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2.C

AT AR E LA time (G T4, atatime BN “—R, —IKBIE” ; intime BN “ K&
i, 2507 o AREIRNILEE FKE, M C NREER.

3.B

filEt: A EZEFEEL WP, atmosphere A “ 5, U7 MR spirit BA R
B4 . MIREE RN B,

C

fENT: A B AP le MENFNBNIAN, BN “BUE, $HE < lie ME ARSI,
BA MR, bR AGT 20750 BN lay, laine T lay BN PG R RE” ., H
i F 2R 2233 0 BN Taid, laide BEREIROR “NEY, MUERIE RN C.

b

6.A
fMT: AR B iR F PRI . protect sb from sth A% WL, B “fR4P 5 AR 2 H 0
E”, from NAEEME; keep sb from doing BN “PHIEF AMIEF” , from ANAEERE; stop /
prevent sb from doing =4 “FHIE. PrIEFREANBZEFE” , from J5H # doing. # A AEREEZE R,
7.B

fiefr: A% A EIBIE SN . disappointing FN “A ANKEN” , 1 disappointed FHN “IK
FRHM” , EAERRANIEKSZ, be disappointed at sth 7 Wy 51| 5 A 5 - = 7 /R F) 2
B NREEE.

8.D

fEdT: AL A AZIRHE. Cheerup! FITEUAA, MAIRIERK, NILBREER.
9.C

fitr: AR A AIEE B ETE. floating Zh1E & cat K HK1, K dead FE2%IA i
FIERANETE

10. B

fiEdT: AEEENANIHE. what 515 EEMNG], 110 where 51 3RIEMNA]. $ B MR EE X



11.B

fitr: AE B AR it (R AR it AR (A1, whether 5] A9 R MNAI I LR E .

i B N R

12. A

fifbT: ABEE as 51 FHIRFIRE RG] as MENR AN, 51 FHERMNERAE, as 5

RIGH AN . WA NEEZR. A, as IBHTES so, such, the same &1 1 4647 1A

Ja, MER 2 AR 5 T E A

13.A

filitir: AR A ¢ break (M3 1R17 A HHT . break out BN “HEK, KA ; breakin EN
“HEN, BN, FEYE” 5 break off BV Wi WivE” . RehlRE “WiZEK R 4% break down

BN U B, haiEIRT o WA VEREEE

14.C

fifEtr: ABEE now that 51 FHPIRIEMA]. now that ®A “BEAR” , HAERRCAFER

Pl JRIRZE, 1M as though BN “Uf%” . W C AREEZE.

15.B

it AR EAEKIE X . force 1FANIAA “oRiE, oR” 2 8. # B NREER.

IV. RIFFES ARERET AR ER

1. The police are trying to find out who is responsible for the accident.

2. That he is the best player in his team is a fact. / It is a fact that he is the best player in his team.

3. They came to the decision that they should go on with the project despite the weather.

4. The only solution is that both parties put down their arms and talk face to face.

5. They are still living in what used to be a church.

V. BRI\ PUERS K E R AER T 56 FRRIEE

1. The mother elephant gave birth to a lovely baby elephant.

2. It has been proved by some scientists that this chemical does great harm to people’s health.

3. Our next problem is how the rocket can escape the gravity of the earth.

4. After a few day, he began to get the hang of it, and did a good job.

5. This room is three times as large as that one. / This room is twice larger than that one. / This

room is three times the size of that one.
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1.C

fRd: ASCRENHE LTMRINE LR, BN “N T EEE L UM SERSLR .
2.B

FEAT: AR E LT, BRI . made of silk MLAMEETE, &1 handkerchief.
3.B

fERT: ZSEE D, TR, LT R, T HIEL, strong 55 L[ withstand
(Z252) AR L

4.A

FARAT: AR, ORI R R R A gt T, TR R 2R R Sk AR AR
5.C

fEAT: AR ERT AT AR, G I PIAN A, [RILR %2 handkerchief.
6.D

fiEHT: A EEIE AR IFEHEL . attach sth to sthoEfeee-fIFEAE - 1

7.A

fHT: BEAL one $EACHTTH HhBLMY string, 1F string (IRIALE, JSTH R AEH that 515 E1E M.
8.A

fEbT: AiAiESE, P OCUME AT — B — DI, LA Ry = AN B LY steps.

9.B

fiEEtiT: BLALZE A AR L T, speak of By “ULHI, $2F|” 5 stick out BN A, R
7 cutoff BN “YIM, FR4L” ; reach out By “MHT” . 45 X beyond the frame,
AR BRI Ry, B .

10.D
it gif BEROC RHIENERE 0, #inext B,
11.C

féidT: JESCHIBL T this silk ribbon, H I AT KR SC 0 5E & BOR = — AR 22 S 17 T8 B 2L
HI A G BN C.
12.B

T : LE Ak 25 & Bl 1A need HI 7%, need doing B need to be done. Vi : FXMUFEILH require,



P
want, deserve %5 .

13.A

fif#fr: protect sb from sth RIH AASZHYI I F ;s prevent sb from doing By 15 A i 5
escape from e, MBS, suffer from A2 -+ 7B, Wk Ao

14.C

fRNT: BLAEHE DT collect BLE N5/ BUE R AR PR R, IhAb A sl 4R
ALK o

15.B

f#fT: above all H%G, SRMEENE, KRR AL first of all 155, SRIHAZNF LA —.
VIL e, MEBERCABREEREER

1.C

fEHT: REEE S —BORR . B S BR S IRTRR, (B2 AR ARIE S N IkRE R,
B ORHE I AE Tt B A 4L At BT AR 1) A0 HEAT T4 o

2.A

fibT: ARUE G A TR . TR SCHE 2 available, £ I RAAIR BB 1A AL
FTOAGELZZMH T

3.C

fiEAT: AL X “In 1973, Hawking moved from the Institute of Astronomy to ...” AJ %,
1973 FERTRAE RSN UG LA

4.D

T ABEE LRI LAT, AL By C =AM AT LIRS SC 2 A Z —HER

C

AT ARE B ORISR H BRI R R E S KR

C

ffERfT s AT R AR . AR SCE S DY BORFEE TLBOTF AR AT A0, 25— UG AE 2003 45, WFELLE

B A 5t A2 2005 4E.

o

7.A
fEdT: ANTHELR L. ARAESCER AR, T RRINEE.

8.D



AT« YRR o SC BB o [ R AR S L A 2 R AR = AN R NIRRT 5K
9.C

fEdT: AN T BIE T EBRACKE WT R, AR Rk

10. A

AT A E TR A BRI )

. BHERE

HEIL:

=

W

With the development of space technology, human beings are exploring further into the space.
Those space experiments and explorations cost huge sums of money, which, quite a number of
people think, should have been used to protect human natural environment and solve the problems
we all are facing. This might be true, but I think in the long run human will have to turn to other
planets when all the resources are used up. For example, human could make use of the mines on
the moon and conduct special experiments in the space. Moreover, some of the new technologies
employed in space could be used in our daily life and thus creating a better life for us.

All in all, space technology development is sure to benefit all human beings.
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